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Practice OE - confidence intervals

1. Asurvey will be conducted to examine the educational level of adult heads of households in
the U.S. Each respondent in the survey will be placed into one of the following two categories:

e Does not have a high school diploma
e Has a high school diploma

The survey will be conducted using a telephone interview. Random-digit dialing will be used to
select the sample.
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A pilot survey indicated that abou@ercem of the population of adult heads of households do
not have a high school diploma. Using this information| how many respondents should be
obtained if the goal of the survey is to estimate the proportion of the population who do not have

a high school diploma 'th_@f),percent

> 03
Mo~ ’:j‘;/\ o0+ efrpn

I
N= 7332333
2. Researchers at a large health maintenance organization (HMQO) are planning a study of a
certain mild illness. They will select a random sample of 2000 patients who are ages 35 to 54
and see if they contract the illness in the next year. The researchers are interested in
estimating the proportions of men and of women who are likely to develop the illness in each of
4 age-groups. The researchers find the following numbers within each gender and age-group.

age group
35-39 40-44 45.49 50-54
Male 350 230 150 60
Female 445 ﬁm 245 150

n=37D

a) Suppose that at the end of the study, 10 percent of the females in the 40-44 age-group
grcent confidence interval to estimate the population

contracted the illness. Calculate
proportion of females in this age-group that contracted the illness.
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Practice OE - confidence intervals

b) Interpret this confidence interval in the context of this situation.
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c) Interpret the confidence level of 95 percent.
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